The Power Behind Performance

Section H

Bolt-On Lugs

Part # Description Picture
. _ . Diameter of Large
EX Diameter of Small Hole (SL) = 8/10 in Hole (LG) = 1 in
509-3100 SGL Post Flag-13 PLT-SL 5%
509-1100 SGL Post Flag-13 PLT-LG ()
509-3104 DBL Flag 3” Mono Large
509-3115 DBL Post Flag-3 3/4” CC Side-SL b
509-1115 DBL Post Flag-3 3/4” CC Side-LG /4’
DBL Post Flag- Right 3" CC-SL
509-3175 (No Holes for Lug, Must be Drilled) m
500.1175 DBL Post Flag- Right 3" CC-LG (=
(No Holes for Lug, Must be Drilled)
DBL Post Flag- Left 3" CC-SL
509-3185 (No Holes for Lug, Must be Drilled) -
DBL Post Flag- Left 3" CC-LG o
509-1185 (No Holes for Lug, Must be Drilled)
DBL Post Flag— Right 3 3/4” CC-SL
509-3180 (No Holes for Lug, Must be Drilled) m
5091180 DBL Post Flag- Right 3 3/4” CC-LG (=
(No Holes for Lug, Must be Drilled)
DBL Post Flag- Left 3 3/4 CC-SL
509-3190 (No Holes for Lug, Must be Drilled) %
DBL Post Flag- Left 3 3/4” CC-LG " ol
509-1190 (No Holes for Lug, Must be Drilled)
EFFECTIVE May 16, 2014 Page 26




The Power Behind Performance

Section H

7 BATTERY |

Part # Description Picture

509-1130 Lead Nut/ Bolt
) Copper Lug 3/0 Lead Dipped— n— ‘

509-1125 %116 Hole L% e
) Copper Lug 4/0 (Brundy)- -

S09-1127 1/2 Hole (Crimp-On) B

509-3300 Cone 1 Post (5-15 PLT) SL

509-3310 Cone 3” 2 Post (17-19 PLT) SL

509-3320 Cone 3 3/4” 2 Post (21-27 PLT) SL

509-4100 Cone 1 Post (5-15 PLT) LG

509-4110 Cone 3" 2 Post (17-19 PLT) LG

509-4120 Cone 3 3/4” 2 Post (21-27 PLT) LG

509-8040 L Shaped Endrow Left -LG hole

509-8041 L Shaped Endrow Right —LG hole

509-8042 L Shaped Endrow Left —SM hole

509-8045 L Shaped Endrow Right—SM hole

EFFECTIVE May 16, 2014 Page 27




The Power Behind Performance

# BATTERY
E SINCE 1926
Bolt-On Lugs
Part # Description Picture
Thimble Assembly: SL
509-2005 (1) 2/0 Thimble (Bolt-on)
509-1303 (1) Flat Washer 5/16-18 x 1 of x 16 SS G i
509-1302 (1) Lock Washer 5/16 SS
509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)
Cone & Thimble Assembly SL
509-3300 Cone 1 Post (5-15 PLT) SL

(1)
509-2005 (1) 2/0 Thimble (Bolt-on) = I
509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS A

509-1302 (1) Lock Washer 5/16 SS
509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

Cone & Thimble Assembly SL

509-3310 (1) Cone 3" 2 Post (17-19 PLT) SL £
509-2005 (1) 2/0 Thimble (Bolt-on) "
509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS
509-1302 (1) Lock Washer 5/16 SS
509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)
Cone & Thimble Assembly SL
509-3320 (1) Cone 3 3/4” 2 Post (21-27PLT) SL
509-2005 (1) 2/0 Thimble (Bolt-on)
509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS
509-1302 (1) Lock Washer 5/16 SS
509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

Thimble Assembly: LG

509-2005 (1) 2/0 Thimble (Bolt-on)

509-1303 (1) Flat Washer 5/16-18 x 1 of x 16 SS g R
500-1302 (1) Lock Washer 5/16 SS

500-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

EFFECTIVE May 16, 2014 Page 28




The Power Behind Performance

7 BATTERY
F; SINCE 1926
Bolt-On Lugs
Part # Description Picture
Cone & Thimble Assembly LG
509-4100 (1) Cone 1 Post (5-15 PLT) LG
509-2005 (1) 2/0 Thimble (Bolt-on) ¥ =
509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS
509-1302 (1) Lock Washer 5/16 SS
509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

Cone & Thimble Assembly LG

509-4110 (1) Cone 3”2 Post (17-19 PLT) LG
509-2005 (1) 2/0 Thimble (Bolt-on)

509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS
509-1302 (1) Lock Washer 5/16 SS

509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

Cone & Thimble Assembly LG

509-4120 (1) Cone 3 3/4” 2 Post (21-27 PLT) LG i)
509-2005 (1) 2/0 Thimble (Bolt-on) ;.
509-1303 (1) Flat Washer 5/16-18 x 1 OD x 16 SS

509-1302 (1) Lock Washer 5/16 SS

509-1306 (1) Bolt 5/16-18 x 1 1/4 HH (18.8 SS)

509-2175 3” L Disconnect R 3/8 Stud

509-2185 3” L Disconnect L 3/8 Stud

509-2180 3 3/4” L Disconnect R 3/8 Stud

509-2190 3 3/4” L Disconnect L 3/8 Stud

509-2176 Single L Disconnect R 3/8 Stud H
509-2186 Single L Disconnect L 3/8 Stud

509-2187 3" “L” Disconnect Right Short 3/8 Stud Slom
509-2191 3” “L” Disconnect Left Short 3/8 Stud POo=0

EFFECTIVE May 16, 2014 Page 29




The Power Behind Performance

, ,. Section H
/ BATIERY
Part # Description Picture
509-2188 Single “L” Disconnect Right Short 3/8 Stud > | =
509-2192 Single “L” Disconnect Left Short 3/8 Stud = :)
EEIN 1Y ” . " “
509-2189 3 3/4” “L” Disconnect Right Short 3/8 Stud @ “W@
”» 13 ” H t\’ H/)
509-2193 3 3/4” “L” Disconnect Left Short 3/8 Stud g :
&
509-8121 S/T “R” 3/8 Stud N
\-’/J
@1
509-8122 S/T “L” 3/8 Stud =
509-2174 Connector 3 hole 2 stud PV LG el o
509-2173 Connector 3" 2 hole 2 stud PV oRe
509-2172 Connector 3 3/4” 2 hole 2 stud PV 9 O
n_n
509-2177 Single 2 Bolt low flag PV ‘@'

EFFECTIVE May 16, 2014

Page 30




